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2stslG-Qlsusfilu 
a) st. SlgrolsrÜ 5T6UL 6iT 

A = 
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|- sin 
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a) (1,1) 
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sin 
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b) 4 

b) 2 

b) 20 

b) 5 

b) 10Cs 

b) 165 
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b) 2 

d) ig) GsieS 

9. x2 + y²�2x + 2y-9 =0 sT6p 6U'LBfs£t 6OLDWID 

b) (-1,-1) 
10. x= 16y radp LuJaJGNGTUIBfo elu� 

c) 2 

c) 1 

c) 25 
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11. y² =-25 x ugoJGDOTUBlo£r GlesiosNHfit BorD 

c) 6 

c) 10C; 

c) 162 

c) (-1,1) 

c) (0,4) 

c) 5 

c) 0 
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d) 2 

d) 1 

d) 3 

d) 5 

d) 7 

d) 10C, x 
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d) (1,-1) 

d) (0,-4) 

d) -25 
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20 x1 = 20 
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13. sin 15° ßT LDÜy 

17. 

a) 

14. cos2450� sin45° sot LDÜy 
a) 

20. 

II. 

a 

V3 +1 

15. 4 cos400 -3 cos 40° sßt LDæY 

2N2 

a) -1 

a) 4 

19. y =log x 6r6dilsü y, = 

a) 

16. tan A = Y onLÓ tanB= ½ snsle tan(2A + B) LDæy 
a) 1 b) 2 

a) 

28. 

18. y ezx 6TGiloü X =0 Q 

b) 

1 

X 

b) 

x-4x if x > 2 

xloge a 

/3-1 

b) -% 

X+2 if x<2 6TGhle f(5) oß Lo L 

2/2 

b) 2 

d'y 

b) 9 

sin 20 

1+ cOs 20 

dx 

b) --

b) aa 

1 

27. tan75° sót LDÚy 65n60�TE5. 

23. IGü Lloir6orTISGTTS LDrDDJS : 

24. FDÜyG GB)D`nEÜ UwsHu$ 

c) 

c) 0 

(x-1)%% +2 

/3 

c) 3 

= tan tG0T BpIyes. 

c) 5 

c) 2 

c) 
2 

c) x logea 

rGnAGugD 7 lT0BAT`S lonL wsfl. (also sTGRT 30 sLTu sm) 
1 -1| 

21. A = 2 3 Teleb A- 4A + 51,=0 scor BpIs. DDDb A- snsots. 

22. GIsiLDTDI A60t (psopule giris: 2x+ 3y +5=0; X�2y + 1 =0 

4 

d) 
V3 

2/2 

d) 4 

d) 7 

d) 0 

11 - 6J6oti. 56oi. -2 

d) e? 

d) a log,a 

25. (2, -3) 1oDpJs (3, 4) rsHp LyetefilssflelgBS FDENT�BolhkGD 90 BAGn Lyatoflulot 

26. x² + y- 8x + 6y - 24 = 0 stsp aJ'st mDuLd LobpLó SHI}Ogå Sno0S. 

7x2=14 
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P, st Ds6G5nGJIITGI 3536, P, latr sCsmau 42á(G LDTDILD GUngI 

7x5=35 

60 

50 

7x3=21 

10 

11 - 6J60il. 56oil. -3 

15 
30 
25 
P2 

(yasog) 

ST60oTS. 

ris: 

dx 

20 

LLNNGALleN lsnGisÜuLQshor. 

(2x + 3y)) ß lle srGoTE. 

10 

dy 

y + 2 = 0 sTep GsiGsn5iG oLæULL 

P4 

3x-2y + 3z = 8; 2x + y-z= 1; 4x�3y + 22 = 4 

40. x = ct, y=* 

39. f(x) = x Loom� f(1) = 5 srGile n sß nIL sr68T65. 

8 
/3 

41. a) GgDD oil (ypsnpuls 

Llay 
ejusuunari 

P2 

36. Glum(G,ofileßr yoflÜy`gu, alsoov`GD siter Glgm LdY X =/5p-15 rGr GlesnGl�ssÜUGDS. 

6TGReJ, (AB)-1= B-'A- s68T`STLG6. 

P1 

38. sin20° sin400 sin800= 

37. sin15º ßT LDÜy sn60TS. 

2 

35. 2x - y + 3 =0 oppILÓ X + 
34. DIÜLS GsDD`OSÜ UusTu 

0 -1| 

33. 15C3r = 15C2 6T6ile r så oIL srG`TS. 

x=0 

b) 

-x 3 1| 
5 

2. A-B-? 

4 11 

-3 

7 

31. r : 

. GTGDa&ugb 7 ailomaisery`G, len usfl. (lom srs 40 s'Lu slon) 

X+1 
x+2 

X’2 30. Lim 

29. f(x) = 2x-1 uoDgIo g(x) = 1 - 3x a1shp sntLsot suoib rtlo) sN an0 usjGngå anSrteS. 
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42. a) sofl Qlgng`SBged algIJI�, 32n -1 ro�iLII 8 yo auGUGò (HMASSI n e N) 

b) (n+2)C, = 45 6ileJ 
43. a) ax² + 2hxy + by² = 0 si6dp TLDL GsiGanGscfloi po�r bloot emio LDÖDst 

smÚGDOJLBIMAO JosoG LDLr`S 6i6le), 8h =9ab srer pjas. 

b) (0,0), (1,2) opgpb (2,0) âlu yat oflsoflát auylurs& Qsagó JLLslot 
FLD6`TLITL60L` Ei60ÜTE5. 

44. a) &pisiLouonp Bpis: 

(yabag) 

b) tan20° tan40° tan80°= J3 

45. a) 

(yajwg) 

sinh80° -elcoslo° +e) tan270°-o)cots60° -o). 
sinl360° -e)cosl360° +)sin270° -e)cosecl-e) 

(ysas) 

sisfileð, (1 + x)y, + xy, -m²y =0 srGsdiETLOs. 

(ydg) 

-3)*? +4) 
b) JsnBáQap srcsßT (X GunpiBsi): V3x+4x+5 

46. a) y= 500 ex + 600 e-/x sTeslei y, � 49y=0 T6T pajs. 

(yolws) 

=-1 

b) (cosa+ cosp + (sina + sinß =4cos2-p 
2 

b) Bgiaa; tan" tan-tan 

47. a) x? + 6x- 4y + 21 = 0 srsD IJAIGNGTLIBfloßT N`G, (Psn61, GaluuD, Qu`GoJGOTUl 

(yodg) 

11 - QJ6oil. e560f1. -4 
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